Combined Gos Lou)
Combinus chorles's = | -
Teoyle’s Law — %){\\\\\. \

10 - Q cl omoL 12.25a0tm . u)hod“ (S -Hfuz. (:jressu.fdgg

N e corttoinee i€ the uolume inoe trsrs
5.00L oo 't:VUL *’c:E,mPeVOILUL_Q, lanl,SLS_Jco_Emf

l\f‘ .' J_?a\]ﬂ.
¥=3.00L b (13 a'ja}m)@ oot,) /Pa (5. )
T 10.0°C, - zsal{ Va=/5.00L | | - (2%3 1K) | (_z%m)
| B3, A50ctn Tlgs 101czagtic |
"He 12 |
bl la%mmam | 'Pa(\-t'%HIL &)
| Qe

Ol+3(prm

EX) obbaucm Jﬁidmg 10.0 ok heliornaas o 0,00°C
| |r\05 & Pressu.re, O—(l ZOO Pa ; uolome ||
@ucuas.as o 700L anotfm puw mouams -f—o

| 4000:17}0 wha+:s the temperatiue INsiole. tha
PV [ .TPVa

baw)on | |
- T: i

Vl 10.0L |
Pk Qoo fa g, M‘@( 10.0 (><lo's SKPQ)( %.000)

T2 10.00C = A3k 8F3 Ic (&abi ) €
: To- [ 2.320,00 133U = &% B4 ‘[_ g
\ Ve oo T
/p,}\ L{OOQM)UOI 35 Kg > Ty (1 3ouymsee) ~ 4§37 1
177 = I atph L 3 B20u 132 3260013 b
= L{OEBKPG | | Tla F 3Tt

. (gzoo 1Pa )(10.0L) Ty _(405 3kla) (70 L) (333K
Caooo ki) Ty = F B’Q’RP@\&.K

T A0tk | K000
BRI




